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Lecture 1 – Quadratic Equation



Quadratic Equation



Q1. 

I. 𝒙𝟐 + 𝟏𝟕𝒙 + 𝟕𝟐 = 𝟎

II. 6𝒚𝟐 − 𝟓𝟑𝒚 + 𝟔𝟎 = 𝟎

[1]  x > y 

[2] x ≤ y

[3] x ≥ y 

[4] x < y 

[5] x = y or relationship between x and y can't be established



Quadratic Equation

+    +     =     - -
- +     =     +   +

X2+11x+30=0

Y2-12y+35=0



Examples E+E=E
E-E=E

E+O=O
E-O=O
O+O=E
O-O=E   

X2-5x-336=0

Y2+53y+592=0



In the following question two equations are given in variables x and y. You have to solve

these equations and determine the relation between x and y

Q.2 I. x2 + 7x + 12 = 0

II. y2 + 8y + 15 = 0

[a] x > y

[b] x < y

[c] x ≥ y

[d] x ≤ y

[e] x = y or no relation between x and y
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Quadratic Equation



Quadratic Equation



Q3.

I. 3𝒙𝟐 + 𝟐𝟗𝒙 + 𝟓𝟔 = 𝟎

II. 𝟐𝒚𝟐 + 𝟏𝟓𝒚 + 𝟐𝟓 = 𝟎

[1]  x > y 

[2] x ≤ y

[3] x ≥ y 

[4] x < y 

[5] x = y or relationship between x and y can't be established



Q4.

I. 20𝒙𝟐 − 𝟗𝒙 + 𝟏 = 𝟎

II. 𝟏𝟐𝒚𝟐 − 𝟕𝒚 + 𝟏 = 𝟎

[1]  x > y 

[2] x ≤ y

[3] x ≥ y 

[4] x < y 

[5] x = y or relationship between x and y can't be established



Q5. Directions: Find the value of "x" and "y" and answer accordingly

I. 5x2 + 44x + 32 = 0

II. 9y2 + 74y + 77 = 0

A. x > y 

B. x ≥ y

C. x < y 

D. x ≤ y

E. x = y or relationship between x and y cannot be established.



Q.6

i 8x2 + 58x + 39 = 0

ii 8y2 – 14y – 15 = 0

[A] If x < y

[B] If x > y

[C] If x ≥ y

[D] If x ≤ y

[E] If x = y or no relation can be established



Q.7

I : x = 2916

II : 𝑦2 = 2916

[1] x < y

[2] x > y

[3] x ≤ y

[4] x ≥ y

[5] x = y or no relation can be established



Q8 

I. 5√2x2 + x - 3√2 = 0
II. 8y2 + 10y – 7 = 0

[1]  x > y 

[2] x ≤ y

[3] x ≥ y 

[4] x < y 

[5] x = y or relationship between x and y can't be established



Given below are two equations. Based on the given

information, you have to determine the relation between the

two quantities. You should use the given data to choose

among the possible answers.

Q9 I : x2 + 5√3x – 42 = 0

II : y2 - 8√2y + 30 = 0

[1] x > y

[2] x < y

[3] x ≥ y

[4] x ≤ y

[5] x=y or no relation can be established



Q.10

I : 8x2 + (4+2√2)x + √2 = 0

II : y2 – (3+√3)y + 3√3 = 0

[1] x < y

[2] x > y

[3] x ≤ y

[4] x ≥ y

[5] x = y or no relation can be established



Q11. Consider the following pairs:

Which of the above pair is not correctly match?
A.  Only 2
B.  Only 3
C.  Only 1
D.  Both 1 and 3
E.  Both 2 and 3
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Q12. Select the correct match given in the options.

Equations Conditions

a).    8x2 - 78x + 169 = 0 d). Difference of roots is 7

b).     2x2 + 11x + 14= 0 e). Product of both root value is 

negative

c).        X2-19x+78=0 f). Both roots are negative 

values

A. a-f, a-e

B. c-d, b-e, a-f

C. c-d, b-f

D. c-f, a-d

E. b-d, c-f



Q.13 The following equation must satisfy the condition : (y < x)

Match the column accordingly 

Column – I Column – II

A)  x2 + 21x + 108 = 0 D) y2 + 27y + 180 = 0

B) x2 – 3x – 28 = 0 E) y2 – 42y + 440 = 0

C) x2 – 28x + 171 = 0 F) y2 – 2y – 35 = 0

[1] C-D, C-F

[2] A-F, A-E, B-E 

[3] Only A-E 

[4] A-E, C-E 

[5] A-D, B-E



Q.14 5x – 2y = 5 and 1 + (x/y) = 8/5.

Quantity I: Value of 3x + y?

Quantity II: Value of 3y - x?

A.  Quantity I >Quantity II

B.  Quantity I < Quantity II

C.  Quantity I ≤ Quantity II

D. Quantity I=quantity II or No relation

E.  Quantity I ≥ Quantity II
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In the following questions three equations are given in variables x. Third equation is equal to the sum

of the first two equations. You have to solve the questions based on given information.

I. ax2 + bx + 4 = 0

II. ax2 + 3x + c = 0

III. 2x2 + 7x + 𝟒𝟗 − 𝟏𝟑 = 0

Note: Eq 3 = Eq 1 + Eq 2

Q.15) What is the value of (b+c)?

[a] 9

[b] 7

[c] 15

[d] 6

[e] 10

Q.16) What is the product of the

roots of equation III.

[a] 3

[b] 16

[c] 22

[d] 14

[e] 8
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In the following questions three equations are given in variables x. Third equation is equal to the sum

of the first two equations. You have to solve the questions based on given information.

I. ax2 + bx + 4 = 0

II. ax2 + 3x + c = 0

III. 2x2 + 7x + 𝟒𝟗 − 𝟏𝟑 = 0

Note: Eq 3 = Eq 1 + Eq 2

Q.17) What is the square of the larger root of equation II?

[a] 1

[b] 25

[c] 16

[d] 9

[e] 4
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Read the following information carefully to answer the questions that follow.

In the following questions an equation followed by some information is given. You have to choose best 

suitable option.

x2 – 28x + k = 0

Root of the equation are a and b.

Here, a2 = 9b and a, b > 0.

Q18. Find the value of k.

A. 336

B. 252

C. 125

D. 192

E. None of these



Q.19) Solve the given equations and find the relation between x and y.

I: 4x²+ 2ax – 116 = 0

II: 3y²+ 3by + 15a = 0

III: 135% of 480 + a% of 320 = 728

IV: 464 ÷ 29 × 10 + 126 = b + 256

[1] x> y

[2] x< y

[3] x ≥ y

[4] x ≤ y

[5] Either x = y or the relation cannot be established



Q.20 If 'a' and 'b' are the roots of the equation x2 + 5x + 6 = 0, then find out the equation whose roots are '2a' and 
'2b'.

[1] x2 + 8x + 24 = 0

[2] x2 + 12x + 44 = 0

[3] x2 + 10x + 24 = 0

[4] x2 + 16x + 56 = 0

[5] Can't be determined



Read the following information carefully to answer the questions that follow.

In the following questions an equation followed by some information is given. You have to choose best 

suitable option.

x2 – 28x + k = 0

Root of the equation are a and b.

Here, a2 = 9b and a, b > 0.

Q21. Find the equation whose roots are 1/a and 1/b.

A. 192x2 + 28x + 1 = 0

B. 192x2 – 28x + 1 = 0

C. 192x2 + 28x - 1 = 0

D. 192x2 – 28x – 1 = 0

E. None of these
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